SolLUTIONS

Math 122 - . Fall 2008

Handout 15: Review Problems for the Cumulative Final Exam
The topics that will be covered on Final Exam are as foliows.

* ' Integration formulas.
*  U-substitution.
* Integration by parts.
* Integration using trigonometric formulas and identities.
*  Trigonometric substitution.
*  Partial fractions. '
* Integration tricks such as polynomial fong division and completing the square.
* ~ Approximating integrals (Riemann sums, trapezoid and midpoint rules, Simpson’s rule).
* Conditions under which different integration methods produce over and under estimates.
*  Error estimates for trapezoid, midpoint and Simpson’s rules.
* Improper integrals.
* Areas between curves.
* Calculating volumes (non-rotation) using integrals.
-+ Volumes of revolution — disk method.
*  Volumes of revolution — washer method.
*  Volumes of revolution — shell method.
* Arclength. o
* . Using integrals to calculate masses.
* - Center of mass. R .
* . Using integrals to calculate work in physics.
* Using integrals to calculate hydrostatic force.
* Euler's method. - - '
~* Slope fields.
*  Equilibrium solutions.
*  Separation of variables.
* Integrating factors.
* Second order, homogeneous differential equations with constant coefficients.
* Method of Undetermined Coefficients. _
* Calculating formulas for partial sums (e.g. for telescoping series).
* Convergence of infinite series by definition (limit of partial sums).
* Geometric series (finite) and their applications.
* Geometric series (infinite) and their applications.
* 0™ Term test for divergence.
* Integral test.
* Ratio test. :
*  Comparison test (compare with p-series or infinite geometric series).
*  Alternating series test. ' '
* Absolute versus conditional convergence for alternating series.
*  Estimating the sum of an alternating series to a given level of accuracy.
'*  Summing 2 finite series with a calculator.
* Finding a formula for the Taylor series of f{x) with center a from the definition.
* Finding 2 formula for the Taylor series of f{x) with center g by modifying an existing series.
* Radius of convergence of a power series or Taylor series.
* Interval of convergence of a power series or Taylor series.
* Accuracy of Taylor polynomial approximations for functions,
*  Parametric equations for circles, line segments, ellipses and other curves in the plane.
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L ]

Calculating tangent lines for curves defined by parametric equations. .
Finding arc lengths for curves defined by parametric equations.
* Sketching curves defined by polar equations.

'*  Finding equations for tangent lines when curves are defined by polar equations.

This (roughly) covers the end of Chapter 3, all .of Chapters 6-8 and the first half of Chapter 9 of the
textbook, together with additional topics (such as differential equations).

2
X
centered at a = 0.
2+ x

.We will use -IJ-Q binoemial +heorem !

1. Find the Taylor series of the function f (x) =

(I+X)P-'-"~ I+ px + plp=1) x"'_‘ + p(p-1)(p-2) x* 4..
- 2! 3!
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2. | Consider the function f(x)=x%.
C {(a) Find the Taylor polynomial of degree 3 for f{x) centered at g = 16.
34 \ - e _ 8
Fix) = X y - fla) = 16 =
: - Uy
Flix) = 2 X £lta)= s
.-5/4_’.. 1 Y 4
"(x) = —3 f£f'(a) = T2
f (x) = X s15
"y - "'q/l'l' u!
f'(x) = 15 F(a) = 2 —
_ o 32 3638
B —~ + a) + fm( ) (x-
P(x) = ,f(a.) 4 £ (x-a) FZ(‘ (x=a)" ( a)
. , ' 5 3
3 — 3 2. — ;(--/6)
= 8+ S(x-e) v (x=1e)" + 65536 (
M) Use your ans:wer from Part {(a) to estimate the value of 174,

Plug x= 7 in o Pa(x) #Frem oabove. TRhis grven:

1 2 R(1F) = 8332146606

(©) - Find a reasonable estimate for the error in your apﬁroximation from Part (b).
Accord fr\,j ‘o the T‘\y’\br Remainder Theorgm’
' 4
[ #() = ALY | = M (b —a)
- 41 |
where M is Fthe maximum value of [;F””(x)] over
+he interval ’:lé,l—-}'- 1. Here a = [6 oad b=17 |
' . -1 ; te value

256
of 4+Ais o~ a calculato~ Qﬂd ‘F""“L'n_f) 150
35/?_oc[',tt5'2_ , Se the esthmate r e

’H\E. ma.)t}m AN

. P | i35 - -6

ercor iS5 . — .

Error = Zo09F|is2 (l?-lé)‘( T 2.682209 x 10,
o4t
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3. A flying ladybug lands in a spot of wel paint at the origin on the xy-plane. The ladybug then
walks away from the origin tracing out a path described by the equations

x(£) = t-cos(z)

Y(£} = t-sin(z) t=0.

t is measured in seconds and x, y are measured in millimeters.

(a) Circle the diagram that does the best job of representing the path traced out by the ladybug over

the interval 0 = 1 = 4.

GRAPH I

- GRAPHIV

GRAPH II

4
b

P " .
(W N l‘rilu [

(b) - Circle the integral that gives the exact length of the path that the ladybug travels during the first 2

seconds.

}\/(t : sin(t)_)z + (t . cos(t))zdt

[}

2

f \[(cos(r) —t- sin(t))2 + (sin(t) e cos(t))zdt

0

_ZJI + 1% (sinz(r) - cosz(t))dt

Continued on the next page.

2

f\/1 +2sin(¢)cos(t) + £ dt

4]

_Z‘\/ 1+ (cos(z) - sin(r))zdt
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() Calculate the speed of the ladybug when t = 2. Give at least three decimal places in your
answer. Remember to include appropriate units with your answer.

seeet T (3) ()

. 2. ~ ))z.l
J(c:s(f) - '(:'an('l:)) + (siatd) + £t coslt

i

Plu.jﬁfr\.ﬂ £t =27 in_‘}o 4his sf\f{.JI

Speed = \/ 1% + 4t To= 6.362265132

(d) ~  Find the equation of the tangent line to the ladybug’s path at £ =%,

7 - T ,
The poiat on the curve torresponding o t = 2 has:
X('?'Tl'/l) = .:”T/Z.' Cos (?Tr/z) - 0

JO) = FY . sin(FTR) = -V

Slope _of +am35n¥ line !

d ' .
dy  _ . sin() + £ cos(t)
o N cos(¢)  — Lt - sin(4)

Pluﬁai/\ﬁ t = ?'“/7_ inte - Hhis jiv-ej':

Ay 7l 4+ oo
dx-ig-{-u/z” T 0 & Fm,

!

I

+

Ea}uqh‘on of Tangeat Line:
o J -

Y'{'i{- = %(xé—o)
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4. Determine the convergence or divergence of each of the following series. In each case, CIRCLE

either CONVERGES or DIVERGES.

In each case, demonstrate that your answer is correct step-by-step using an appropriate convergence test.
Be sure to explicitly state which convergence test you have used. Be careful to show how the

- convergence test justifies your answer, If you do not justify your answer, you will get zero credit, even if
you circle the correct response.

o §5+(—1)” |
(a) ~ - ‘\/; DIVERGES

JUSTIFICATION: Wwe will use +Hhe comparison +est.

Inital Guess: &+ (=" s aanys less +han
6 and n- \f ] n 34 ¢, Fhis
seried wf” b%. domin ated ‘:\/ Z

A=) 3/1..

!

p—secien prn 'P 3/7_ 7 So i+ Cor\u{rges, r

would guess ‘H\o..‘]~ g’; 5+ ()

] r\-\(n

Calso CoanfSC'J.

Formal Ccm!:mi.f;nf 0< 5 + (""l)“ < 6

o
+ (1 6
o< 2*lzl) < ——
n - \{n n’%
As /311_ cenverges (it s « P"5€-’"e’7
‘ l'\.".-".l
with p > | ) , the Compwi.ron test gives

i~ a Z- 5+ (""1)
h=, n \/"_"

alfe Converges,
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(b) 4 |
“~n- (ln( n)) DIVERGES
JUSTIFICATION: We will wse +he Integrel

Test wiith  £(x) = " |
' x—-(zf.n(x))q.

Firsd we must ve.ru’Fy that  Fhe rnA!—Qﬁrql 4egs |

a.PPHeI For . P 2.

() f£{x) v o. When ;c72) (_in(x.))‘f>o So

Flx) =__1 = _
+2(+)
() £'(x) <o Fi(x) = — [(zn{x))‘*fx-‘f-(!n(x» ;‘_-__}
) )(7-. (&(X))g

Now the -nume.rq.zLOr iS5 r\e.gahnaﬁ

WwWhtn 2 72 andh Fhe denominaton

iS positive when X 70 3o £{x) <o,
Lmproper Inteqgral : |

—

f"" : dx = Lim f& _— dx
= X (tala)? a->o Yo x- (fa(x)*
ket U = An(x) e +hat dx = x-du , and:

= Llim dnla) u"q du
o —r o da(2)

L;M -:—L( "'"""'l——l b '——i.—__.
ase 3\ (ala)? (L)}
—_ ! : ’

3. (£a(2))?
in—b&gr-a.l Converges, Fhe ILntggral
) i _

i

As t+he improper:

xr ves +h .
es gives at nZ::_z n-(&(n))"‘ Converges,
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22:4-6-...-(2n) |
(©) E l CONVERGES
n=1 " :

JUSTIFICATION:  We will use +he Rato Tes+t.
(Note +that (Ff you can recegni e

+L\Clj' Qn = 2 4%. & * ... ¢ (2-!‘\') - Zn ‘}4\2{\ )/OL»\
n' o |
could alse wse the nth term test for d;VC‘BWe-) |

Gntl 2.4-6-.. - (2a)(2ne2) i
an (n+1)! 24,6 (2n)
. (2n+ 2
= Znk2) Lo,
(n+ | )
Se, L.I‘m.._ Aati | - 2 > 1 sa. ’H“Q;
h=—> 0 An .

= Z:46...'(2n)
Z‘ n! =

Ratbo +est gives +hat +he s&rieo

n=4

diverges,
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£ -1 2
5. Consider the alternating series: E 10”

n=1

(a) Does this series converge absolutely, converge conditionally or diverge?

“This serres Cor\verje_.s abJ‘olu‘Fely, which we w;“

demenshrate WUsing +he Rato tesk

n=-\ 2
‘ ; a, = (-1) - n".
; . Rato Test+ with h
'Per"For‘rnnnﬁ H-se a. | | 'On
Grer  _ (=07 (nap* 10" I T
Q@ . 10" =) 0 lo n*
i An+ — Limn | =1 At + 2n + | _ I/
_h-?oo L | n—» oo 10 n% ' IQ
As Lim famel L 1 4, e Reho Tes
n—» o - o ’
‘ | _ _ . .
3iv23' Hat  Hhe Seriesx Z -nn Conuveraes o
n=i 1O ‘
bt n—'l‘ 2,
+he series Z (—1) n conuerges a_b.salqﬂ!‘el)(,
| | Ny o"

Continued on the next page.
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()

(b) What is the smallest value of N needed to ensure that 2 o approximates the value of

n=1

o n-1 2 . )
~1 .
EKT with an error of less than 0.0001?

n=]

As +his series converges, +he Aif&rnaﬁ'nﬂ Series

2' -
Echmaron Theorem applies, Sebr a, = 1 . Then :
' e
@ a=t 2 N A=l q ' 2
> & s &) .0 < a.., = NHD
_ A n Nt i
R=1 10 n= 10 10

To FHAad N Fhat will ensure that +he -error 15 lRSS

than 0.0001, we must solue :

AN+ I
joN*!

< 0.o00c01 .

Doing +his with a Hable oA a calcalator 3:"«*65:

N 2 5
So, the smallest wvalue of N Hxag% will lead o
an Rcror  less Fhean ©-0o0o0l 1s N = 5. |

w0 n-1 2
: - “n
{c) Approximate the value of z(—)lar— with an error of less than 0.0001.
n=1

vl = (“*)A(-X—IU*X/\Z/ 10 A X

sum(seq ( YL(K), K, |, 58)) = 0. 06F65
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6. A carbon rod of length 10 cm is placed on the x-axis with its left endpoint at the origin.

I , ' i
x=0 X X +dx x=10
The density of the carbon rod is given by the function: G(x) = &+ bx in units of grams per centimeter

{gfcm). In this formula, @ and b are both positive constants.

(a) Calculate the mass of the carbon rod. Your answer may include the constants ¢ and . Include
appropriate units with your answer.

Mass locatecd behrueen
> and 2 4+ dx

it

&(x) .

(a+bx).dx

il

Tota! mass = fl? (a+ b3 . dac
‘o ,

' .
= [ax-&- ‘{bxzj - 10 a =+ 5ob,
Fe)
‘(b) Calculate the x-coordinate of the center of mass of the carbon rod Your answer may 1nc!ude the

constants a and b.

lo Masss (e catded berueen
Center of mass :'—" fo X X and LR -+

Total Meass

J""’ X+ (a+ bx) - dx

[~ ]
0O« + 5Sob
= Tiax* + & x| "
iOa. + 50 b

cm  from

ICa <+ 506b

"

g_t‘:aﬂ\o .

X=0
end
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7. A cylindrical urn, standing upright, contains hot chocolate. The top of the urn has a diameter of
0.8 m. The urn has a heighr of 1.1 m and is filled to a depth of 0.9 m. The density of the hot

chocolate at a depth of h meters below the surface is given by the function:
S(h)=1+A-h kg/n?’,

where A is a positive constant. Find the total work required to pump the hot chocolate to the top
rim of the urn. Remember to include appropriate units in your answer. Note that in SI units, the

constant for gravity is g = 9.8 m/s>.

The ck-io.sro»m shouwar -i-_-ba

- - physical  <ihualon.  We
_ will stary by caleulatag the
‘—T- werk Hiat must be deae 4o
04 1.\ WWEEF  Hee shaded slice of hot

chocolare 4o +he +op of
Hie wrn , and  Fhen u.ra'q.nr
integral do caleculate Hhe
Jo ol wer K. '

—  (Force on slice )+ ( Disfance moved)

Work for slice =
(mass )(1.8) - (h+0.2)

= (Volurﬁz)(de.n.h")ﬂ/)(q-s)(h""o-z-) |
(™ (0.4) dh)( 1+ Ah)(39.8) (h+0.2)

i

Il

Toral work = J’°'°‘(,n (0.4)*) (1.8 (1+ ALY (Rh+0.2) dk
T (0.4)* (4.8) f;oiq (0.2 + h + 0.2 Ah+ Ah*)dh
T (0.4)"(9.8) [_o.zh + A p* 4 0. AR+ _,}Aﬁ‘j:?

7 (04)*(1.8) [ 0.585 + 0.324 A |

it

it

It

2.8817 2009 F 1,_5?402?57‘?4 N,
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8. A new toy is being developed called the “Infini-bunny.” The Inﬁni—bunhyjumps up and down on
the same spot. To activate the Infini-bunny, a person places the toy on the ground and presses the
start button. The Infini-bunny then starts jumping up and down. The first jump is to a height of

10 feet. The second jump is to a height of 10(%). The third jump is to a height of 10(%)2, and so

on. Each jump is % of the height of the previous jump. The Infini-bunay will keep jumping up
and down until the person catches it and turns it off.

(a) Write down an expression (or formula) for the height (in feet) of the Infini-bunny’s n™ jump.

‘ - |
Height = 1o (£)"

(b) Write down an expression (or formula) for the total vertical distance the Infini-bunny has traveled
when it lands at the end of its n™ jump. Express your answer in closed form.

NOTE: The old saying, “What goes up must come down” may be useful here and in Part (c).

. ) 2, 7 a~1
Vertcal — 2 (o) + 2105 + 2 'lo-(é_) + ...t 2'!0»(_5..)
) _ i 4 4
Distance

.: -ZO-EI—(sé)“]

| = %/

This clesed “Horm is possible be caurse -H\e.r
exXpremion for vertical distance i5 o Al e

I - 5
geomedvic serien w i+h a =20 , r /6 ancl

o hotal of n terms.

Confinued on the next page.
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() Find the total vertical distance (in feet) the Infini-bunny will travel if a person activates the Infini-
bunny and just leaves it jumping (i.e. they never catch the Infini-bunny and turn it off).

Heal - .2.‘
CHE e e ) ¢ 2o (8) e
Tist+ance '

— 20
I — 5%

I

120  feedt.

This s an infrini'+e geomeric Series ws THh

a = 20 ance = 5/6.

(i }] . To complete a jump of height k feet takes the Infini-bunny ‘/% seconds. If a person activates the

Infini-bunny and then leaves it alone, will the bunny keep jumping foréver or does it eventually
stop jumping? Briefly justify your answer. Ignore practical considerations like friction, air-
resistance, battery life, etc,

Time +o 9o wp for nth a‘ump = ta -

I
|5
)
A

= 2 "7
= */

L~ 25 66385 5% -Second.f.

This s an iafrarie 3comeh‘1‘c‘_ secies with

. V ’ . - l
i 5 .
To*'a- = ,2' . 'O + 2 __{.9_ . S + fz' .E ' E‘ + P
Hene . g 8 6 g
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9, An object is moving along a curve in the x-y plane. The position of the object at time ¢ is given
by the parametric equations x(7) and y(¢). All that you can assume about x(H) and y(¢) is that their
derivatives are given by: ‘
dx d .
—=rcos(+1)  and Loy sin(¢” + 1)
Cdt dt
forOst=< 3, and that at time ¢ = 2 their values are:
* x(2)=10,and,
© ¥2)=-3.
(a) Write down an equation for the tangent line to the curve at the point (10, -3).
dy o Y /st _ —t - sianl{€z+ 1) d c
dx - £ - cos (£2+1) =Y, T 3.3%80515006,
d dx Jae | dx |

t=2
Equah'on of Tanjenf‘ Line :

y + 3 = 3.380515006: (x — 10)
(b) Find the speed of the object at time 7 = 2. 7 :
‘ = d 2 a4 LI, A
feecd = J(8) 4 (8) = Jer = 1) [ wing
: : sint{Er+)
+ cost (£ 41) =],

Plu.jgl'”r\.j in £ =72 _9"\"'-5:

Speed = 2.,
(c) Fiﬁd the exact distance that the object travels in the time interval 0 <7 < 1.
. ! - -1
Exack f (82 V, [\ gt
Distance o at ) Y % _
. 1 . Y YA UNLY Tl e
woimg  Sia?(£*+1) + cort(tt+l) = |
= [+ . dt & s o

o
- I I
. — [-’:‘{: ]‘o

= .
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10.

Consider the shape shown in the diagram. This shape
is the top half of a sphere with a radius of 10 meters.
If you look at the shape “side on” then it looks like
the top half of the circle described by the equation:

x* + y* =100.

10 meters

The shape does not have the same density throughout. -
The density is high near the base of the shape and
lower near the top of the shape. In fact, the mass
density at a height of y meters is given by the function: ‘

p(y) =2200-20y> kilograms per cubic meter.

(a) If you were asked to work out the mass of the shape, briefly explain (in a sentence or two why it
- would be best to slice up the shape into horizontal slices.

We want o slice #he shape up inte pieces that have
opproxi ma.+eJy constant density Fhroug hout, Ag den.r:i—y
depend> on we slice hor-;‘%cr\-l-ally' so +that Fhe value

Oi Y (hence #he denor fy) is G.Pfarox,jmq«]-e_ly Conatant In ea.d-\ Shice,

() Set up an integral that will glve the mass of the shape.,

io ' Uiing
Mass = f (ZZDO—-Z.OYQ') Ttxzdy } Atryt=Ilve

=]

= f " (2200 - 20 v*) (1<) (1oo —y?)dy
[~ .
(c) Calculate the mass of the object. |

| lo , : |
Mass = Tﬁf 220000 - 200 z.+ 20 v4
_  { ‘ y y*)dy

1

T 220000y — 4300 Ys + _‘3__9'-ys o
3 . 5 _ )

I

- [200000

¢

& 37699/].184 Ks
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11. Find solutions to the differential equations below, subject to the given initial conditions. In each

case, provide step-by-step work to show how your answer was obtained. If you do not provide
any work to justify your answer, you will get zero credit.

dP : -
— =3P -6 - _
(a) dr P(0) ’20,
, use. Sﬁ_Par‘qun of Variables ...:...E = 5(9-—2,)
l
.r P = J 3 dt
P -2
a(lp=2]) = 3¢t +C
A__ + <
P~ = A eyc y A = e

To delermine A, use P(O)r"’- 2.0 ) 5;‘\{?:’\9 A =13

, 3t
Final answer: CPE) = 2+ 182

dy Sy |
® T | ¥(2) = 64.
| Use ' SQP aahHon of eriabh.‘. :

fya = [Ee

Ul lyl) = 5.4 (lx]) +C

. p | .
Yy = A X A= X e

2

To derermine A, woe Vy(2) = 64 e get A ':" 2. .

Final oapower: y = 2. X .
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12, A perfectly spherical pearl has a radius of » mm, where b is a positive number. To prepare it for

sale, a circular hole is bored through the center of the pearl. The radius of the hole is a mm,
where a is a positive number and 0 < a <b. The circular hole goes completely through the pearl,
from one side of the peari to the opposite side of the pearl.

Before the circular hole was bored, the volume of the pearl was %ers. Find the volume of the

pearl that remains after the hole has been bored. Remember to include appropriate units with
your answer.

We will calcutare +he volume of e peacl aftrer
-H-wa hole wasn bored by r‘ev::lvirxﬂ +he shaded

Pgslon shown below around H\t y—axis. We wrilil

wwse ISHQ‘\S +o do H-ﬁs’ calcutatton,

Y/}

Shell volume

= 2Mx. (2y)- dx

= ATx [ p? —-x* dx

To tal Valume

b -
= f‘fT['x. bt — X¥ . dx

o

1

- e S A TRV A Y
ZTCB(L, x)

i
A

3/.
(b7 =a®)
3 _

units: cubic millinederc,
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: 3 .
13. Suppose that g(0) = 2, g(3) = 5 and f g(x)dx =7. Calculate the exact numerical value of each
0

of the following definite integrals.

3

C® fg(B—x)abc = —I: 3(Ll) du = ‘(‘033(#) da = F

dx = ~du w-subSHtuon.

@ s = 3 [%guide = 21,

w= *3
. dx =. 3du wu-=subshtuiion,
x]o | s

u , o I 3

3 3
@) [fx-g(x)dx = *.9(x) -‘-f 9(x)dx.

o= (3)(5) -~ (0)(z) — %
= g
Tnregration .by Pacrts,

14.

Suppose that fis a twice differentiable function with f (0) =6, f()=5and f '(1)_= 2.

1
Calculate the exact value of fx -f ”(x)dx. Show your work:
0 . { H
Tatregrate by pacts with w=x and v'z f£7(x).
. | ) , . : ,
Then w o= ond v = f (x)7 Sot

[ xofrenax = [x 0] = [ sooax

(DY) =~ (@) Ff'(e) — ]:;C(x)]:

2 = +£0) + f(o)
2. — 5§ + b
= 3

1

|

il
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15, Use integrals to calculate the volume described in each part of this problem.

{a) ‘The region R is bounded by y =x7, y = 1 and the y-axis. Find the volume of the solid obtained by

rotating the region R around the y-axis.

Yy 4

~7

5(
i
R

(b) A region R of the xy-plane is enclosed by the curves: y=0, x = {0,

e cam Slice the area up into

Bor'f’t-orﬁ'n_\ 'r-ec}-uz\sfefa cmd wre
the merhod af Aisko,

= J'I'T\‘xz’dj

o

Voluwmne

1l
S,
A

Yy dy
{

[_ ‘I;_' TC yl]'o

1l

1l

A

L
2.

y=1/; and x =4. Find the

volume generated when the region R is revolved around the y-axis.

y =¥x7
N\
N R
N\ .

Continued on the next page

You coutd find +he volum=e

LA.S?r\f) shellsy or warhe—, We

wi il setr  HAis up wuJsing Shells,
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(c) Calculate the volume of the solid whose base is the region bounded by:

- y = ex:
* the x-axis, and,
* thelinesx=0andx=1

and whose cross-sections are equilateral triangles that are perpendicular to the x-axis.

""_f: %yz dx

x
N y==¢e Velume =

~

i

=G (0T e

»
o
(7]
A

v

4.

_?Q \-\\\.' S % - — Il_f_f_‘ e™™ dy
! | ‘ o :
[ __\Fi: ele

|

i

[-)

d

.,
_——8"(2-“‘).

{d)  The region R is bounded by:

* Theliney=0,

*. Thelinex=1,

* Thelinex =4, and by
* Thecurve y=¢™".

Consider the solid whose base is the region R, and whose cross-sections perpendicular to the x-
axis are squares, Calculate the exact volume of this solid.

3 . 4
4 - ‘ Volume = f' Yz’ d'x_

il

{7 (e* ) dx

NN
0
i

!
f“' e,—lx dx
' - .

N
b4

[
W
v

o X 4

Y

i -z _ "9)
zle ~-e

ﬂ‘
N
H
l\)

i



16.

For j —_—
- - x?

. 2
w Hh u= X

- b 5
l{S an 000 -.Funcl-{onl f dx =0,

SoLUuTionyS

(a) Using the techniques of integration that you have learned (and not calculator integration),
find the exact value of the definite integral: :

b
1 x
dx. -
f(1+x2+1+x2)

-b

Your final answer may contain the symbol » but should contain no other unspecified constants.

i i X
Note that: dx = —arctan] =+ C.
fa2+x2 a (a)
b i . ‘ . .
For J. : dx we can use #he 9 S-Fe
b |+ '

in-!—e.jrqh’on -For'mg_;l'o.. +o O_l:)"‘cx.i/\i

X = arctan {x
-b 14 X* .

i

2. arctan (b)

b %
dx we tan  Cerry

o~ nohice +hadr Since £(x) =

—

L V4 x*

Adc\;r\a S‘NQ_J,'..

-b I+ x* b+ x*

Continued on the next page.

fb ( : + X d % = Q_.@ré+an(b).

2L

oud o u-~Sobshhution
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. Lim ¢ 1 X
(b) Use your answer to Part (a) to calculate the limit: f -+ 2 dx,
' b—owi\l+x* 1+x

Note that Lim__ ayctan(x) =Z.
¥ o l X ~
L [ —_— e ———— | dX = Liew 2 a.r-C‘}‘f-ln(.b)
b—> o - b 4+ X% 1-\")(?' L—>e
= - ’rr/z_

— 7T,

I+x . _ _ o
> dx converge or diverge? Briefly explain how you know.

) Does the improper integral f "
YL l+x

dx diuergen.

. . I+ X
The tmproper inkegral f Y ,
- 0a
| this indegral Fe= cooVerGe)

This j5 bfcause in or'-o\:.r" lf::— . ey N
“both of Fhe integrals Lm — dx  ond fo e
hoave o Converge if\de-peno\any of each other
5'°° ‘+X. dx. = Lim % i + b 4 ax
' a
a=» o _ o
= Lim  srcran(a) + 1 Lo () +¢1.’-)
a—p
= ++ o div o J,oo_ I'!'?\I dx

also c\iwgm.
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17. On afternoon in January, my furnace broke at 1:00pm. At the time this happened,- the
temperature in the house was 68°F. When I got home at 7:00pm, the temperature in the house
was 48°F while the outside temperature was 10°F. You can assume that this was an unusual day
during which the outside temperature stayed at exactly 10°F all day.

(a) Assuming that the temperature T in my house obeys Newton’s Law of Cooling, write down the
differential equation for T. (This will involve one unknown constant that you will have to find

later.) _ -
Newtrony boaw of Coo“nﬁ: ' 4T = k- [T_. ;0] t = hours Since

£ [ pmn

k = unkaowa
eo aband.

F'unc.+1‘-on valueg ! T(o):: &8 _ —r(g,)-.:q.g

)] Solve the differential equation from Part (a).

Use Separation of Variables: I 'T'-'-!o dT = jk,dt‘

| kKt pzte€

T — o = A€ ,
: _ k(o)
To determine A, uwre T(0)= 68§ 63 — 1o = Ae
| 58 = A.

4

48—1loc = 58-¢&
= L (22)% -0 |
k= Fda(ZL)E -0.0704761418

‘ —o0.070476)418 T
Final Ansuser  T{(t) = lo + 58 e

To determine kK, use T(6) = 48!

{c) Assuming that the furnace is not repaired, at what time will the temperature in the house reach the
* freezing point of 32°F?

" Set+ T =32 and selve for t
—-0.0304F6 1418 ¢

32 = Jlo + 53_8
t = 3. 7550)74]

This . corresponds 4o abeut 245 am,
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18. On Staten Isiand, garbage is dumped into a pyramid-shaped hole with a square base. (The base is
at ground level; the hole gets narrower as you go down into the earth.) The length of each side of
the square base is 100 yards. For cach one yard you go down vertically in the hole, the length of
the sides decreases by a yard. For example, if you go down one yard verticaily, then the length of
each side of the pyramid-shaped hole is 99 yards. Initially the hole is 20 feet deep.

{(a) If 65 cubic yards of garbage arrive at the dump each day, how long will it be (in days) before the
dump is full? :

Note +hat +he hole 1
hot o perfect Pyramid,

" Frus+rum pyramid "ois

Pf‘obqbly o0 More actuwratt

description,

F:'r;%— we must calculale

the velume of Hhe hole.

To do 4his we will clice
Hhee  hole hor’i%gn}q”\/‘

Volg.me. of = w2 . d)’
shaod ed Slice

= (1ee~y)%-dy

To tal

volume

= f:-o ( loco *—-y.)i d\j

' 3 20
= — (100 =)
3 o
= 1003 803 | .
- Cubic Y ardto

3
Continued on the next page. A} 65 cub:ic yqr—clo P clay ) i+ ) el

fake Ioo0®— 303 = 2503 days *o Al the
{45 '

hole.
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(b) Suppose garbage weighs 800 pounds per cubic yard. A few years after the hole is completely
filled with garbage, environmentalists force the city to dig up all the garbage and remove it from
the hole. How much work must be done to remove the garbage from the hole?

Work done +o = ( F'orcsa) ( 'Disi—aﬁf-q->
Femove Shaded

slice

Totral
work

1

I

I

It

Sy
S—

= (‘EOO)(IOOHY)L‘dy-()/)
0 ‘ ' =
f (800) y (leo—y ) . dy

g oo ’(io ( lo coo y — 200y * + \;’3) dy

o

20

300[ 5000 y* - 'z_ooy3 + _LTyll-j
3

<

1205333355 chr*d"PoQt\dS

36 600 0o 00 {feof - pounds,

24
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19. The graph'.of a function ﬂx) is shown below.

y 1

y=f(x)

"\\_\\
‘\\-\

T~
‘-v-.,__‘_‘“_hh‘*_'-‘-‘_‘-‘_
- . X
2 4 & 2
(a) Use the graph given above to sketch the rectangles that you would use if you were asked to

7 .
estimate the value of the definite integral f f(x)dx using the midpoint rule and a total of three
i .

3) rectangles. . :
® g See dicgrem o.boue.

(b) The table (below.) gives selected values of f{x). Use the trapezoid rule, the values given in the
table and a total of three (3) rectangles to approximate the value of the definite integral

}f(x)dx' Left hand Sum = 2 (4.2 +2.9+2.0) = /8. 2
l Right hand Sum = 2 (2.9+ 2.0 + 1.4) = 2. ¢

x 1 2 3 4 5

Trqpe%oid _ i18.2412.6

IS, 4

H

fix) 142 {35 |29 |24 {20 |17 |14
I Rule 2.

(c) Is the value that you calculated in Part (b) an over- or an under-estimate of the definite integral?
Briefly explain how you can tell.

It js an overestimate of [7F(x)dx. Thir is because
F(x) is concave up oaad e _Tquefoicl rule over-

eshimates the area beatath a cencave up Curve,

(d) Give an example of a function for which the trapezoid and midpoint rules will give exactly the
same vaiue.

Ar\y linear o~ constant FAunchon will u._)or_]C.

9. filx) = x.
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4 ' ‘
20 (a) Find the approximate value of f Sin(1/; )dx obiained when the integral is approximated
' 1
using the Midpoint Rule and 25 rectangles.
1 A 4 B 25 [sTon]N
YL = sin (V{X))

(B~A)/N 10

sum (seq (YI(ATOSAWHKaW)RW, K, 0 N1 = 2. 881069247

. 4
b Find the approximate value of f sin(w/; )dx obtained when the integral is approximated using

1
the Trapezoid Rule and 25 trapezoids.

Lef hand sum = 2.836326353 Right hand fum

= 2. 83444552¢
Teapezoid Rufe = z..e?eszsss.s: 2.9844<552 ¢ = 2.880395939

4 : :
(c) Find the approximate value of f Sin(w/;_)dx obtained when the integral is approximated using.

1
Simpson’s Rule and 50 rectangles.

S:'mP.Soq - 'é‘(TMPQ-}OI'GL) + %(MF&PO;‘(\'}-)

= 2.%80844 81|

: 4
@ How many rectangles should you use if you wanted to approximate the value of f sin('\/; )a’x

. 1
using the Midpoint Rule and with an error of less than 0.005? Show your work.,

We wank 4o find N  So Hat !

K- (4'“’)3 < O.cor.

24 N*=
K is the. maximum value of [ £(x)| over Fhe interval E'; 47,
. f — 1/
Fx) = sia(Vx ') F(2) = cos(Vx') £ xT
I1; — . —
f (x) = -s."n(ﬁ(")"alz'x g cos (VX )'-};x -
Graphing I‘F"(x), over +the InYerval , [, 4] giveo !

K = 0.34544.332
To f¥ad N : (0.34544332) (3)3

: < o0.005,
24 - N*Z
N > . (0:3484544232) (3)3 L 8. 8/ 6
(24 )(0.0057) '

Use o+t Iéa.(:l- 9 r‘eci—qne_:’\{.:,

¥
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21. Use the technique of Trigonometric substitution to evaluate the definite integrals shown below.

2

|

(a) f‘“z*z" dy
1 .

Y raS-y
= s -ws(e).

-,u5€ +rf3oboma+r.'c. Subst}u,ﬁOn wifh Y,
Then 5-—- y"‘ = &K~ 5 cos* () = S‘Sr'n"‘(f?)

J5-y* = 5. sin(®).

2y = = N5 sin(®) so dy
de ’

.SubsH ‘)‘uh'f\.j !

i

a \[}—S?n(e) de.

Il

"JS— 'Sl'f\(e\ d_g

3 |
d
f y* fS——y’" Y 5.cos*(8) - [ sia(B)

L[ sec*(e) d6
5

Il

— ~1 . c_r
= . +ran(®) -+
3 N

. : ' w1
Next, Coavert +he onH depivqﬁug_ back 4o H‘ 9
a r‘isk*‘ - Ms le ""'T‘i'a_ngt-e, u;;r\'s —!—’\e_ _ -}—ria‘-\a le. Shown

Y () : "~ below, ten (8) = \}s-yl So !
- o= Co§
V&~ | g
' 2
J.:. | ; J5=y7°
7( =
5_.32. ] Y'L {5_),7-. _5 y ‘
= - -2
1o 5
Continued on the next page. 7 : e
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*# cos(z)

® { 1 +sin’(z)

HINT: (a) Try a u-substitution to begin with; =1+ sinz(z) is probably not going to be very helpful.

dz

(b) You may use the integration formula: f sec(x)dx = ln(lsec(x) + tan(x)]) +C.

' {
, . . + dz = d « and !
| et w = sta(®) so Hha | cos(2)

cos (7)) -

\/l + $in*(2) ‘

dz = f ! da ,

Nextr make +Hia ""’"l‘jcnome_wfc substrrubcn w = +an (6)
So  Fhot m = sec(&) and du = sec*(e)dp :

|
j. J_ﬁ— dw = . sec*(e) d6
L+ a® sec (@)

f sec (&) 4©

I\

= An( | secte) + +an(0)] ) +C

Te C@AW+. the andiderivarhoe back 4o U, woe The

'ga

r-ij\n’r—-cu\a)e._ ‘\V‘?ar\e’\& Shown below. sec(d) = JV+u® ! so!

4 = +—a.f-.'(r—>)q f ::«-du: ﬂn([m * u])+c

and  then -F—Fr\n.lly) (_or-)uu.efi- Pack +o
Z using u = sin(z),

S

T2
° J 1+ sint(@) |

(]

f cos(2) dz = ﬂn(,m-rsfn(z)l) = ,Cn(ﬁ—l"'i).
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22, In this problem, all that you may assume that f (x) is an-odd function, that g(x) is an even

function, that the domains of both functions include —4 < x < 4 and that they have the values
shown below,

f{~2)=5 f(0)=0 g(2)=-7 g(2)=-1.
3
(a) Find the exact value of the definite integral: f f (x)3 . [1 + g(x)]- dx.
. 3

f(.\()a 15 odd cuwl. .11-3(1) (s even. So the product

5 odd and. ‘[33 f(x)% [_1-'!'9,(1_)_]'0‘1 = O,

’ 2
(b) Find the exact value of the definite integral: f x- f'(x)dx.

-2

In-lejr‘q-l-& by PCM"‘ s with o w =X and VV’-"-"'- JC’
lg ‘ 12 2
Lz, X+ £ (DC) dx. = [X . .‘F(x‘)]_z R £z _-)C(x) dx
| = (=) (—-5) - (~2){5) - O = O,

: 2
© Find the exact value of the definite integral: f F(x) 410+ F(x) - dx.
0

Use wu-subsHfubion with w= o+ F£(x).

. 5 . - 3 5
f:-F'(X)\/!o-I' Flx) dx = j; u'* du = [—% u -/L];

o

V2 .
(@ Find the exact valug of the definite integral: f x-f '(xz)dx.
0

Use w—-substitution with o = x2

N RPN
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23. (@)

X

¥ind a formula for the most general antiderivative of: f (x) =

where
(e - M)(e* + 3N)
M and N are constants and 3N + M = 0.
. v ) - ) - x.
We will begin with the W= suksh+ution w=e"
Dc?ms +his:
o e =

f { du.
(w—=mM)(w+3N)

CNow we will uge partial FroactHos on the
+rans forrne d irﬁ"e%r*al. ‘

. , .1 — = A B _
(U-""'M)(LL'P'BN) w—mM™ + W+ 3N

| pflf\dt'lﬁ'\a +he constants A ancl B !

oA (wt B3N) 4+ B (u=M) =

Coe,-Fﬁ“gEe_n-}- of w: A n B -

)
Constants

AN-A -~ MB = |

——

and  BNCA + MA =] giving:
A = ' -
. SN+ M B N
Therefore :
| N , |
Fx)dx = 3N+ M - _
f f o= dw j SNF o
w4+ anN
o -
B 3~+M£’L(’“"MI)—~ ! A (lutsn]) +C

3N+M

—

s e aml) ~ L ta(lex+3n]) +C

: IN+M
Continued on the next page. -
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I

(b) Find a formula for the mosi general antiderivative of: g(x) =— > Where Bisa
: x“—6Bx+10B

positive constant.
We will  use HFhe integration formuleal
| | 2
j "_“_—“ d> = --‘—- arctan | e + C.
a*+ x* : a - o

To P\A‘).‘ 3(;(_) inte a fermodt compati ble wit+A +his

fn+~ejrq+{0ﬂ -F'or'-n-sulca/ we will Compler=s the

Square in the densminator,

x"_——- 6BXx + JOB® = x* - 6BX -f-"?:Bf"—~_‘?B7'-J-!DBz

il

(x- 375)2 + B2,

Thg_r-e_gor-e_'-

f g () dx = f [ d
| ' B* +. ('x—-ZB)_?'

..CLPC‘l‘O.('\( ;:-.—-38) + C
B

H

Continued on the next page.
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2+ R -R*x-R®
x—R

{c) Find a formula for the most general antiderivative of: j(x) = ‘where Risa

posttive constant.

WQ. UQI'” LASR ‘PQ f\/nﬂmfa,‘ |°(\9 O\.J‘VI‘S 10N ‘{'D Sl‘mP¥;"P-\/
£x) before Rading the antiderivative,

¥: + 2RX + R?
=R ) x®+ Rx*_ R:x — R’
x* — R xt

2 Rx™— R*x
2R X* - 72Rg*x

| R*x — R*

R"X"'R,i.

O

Bosed on Has quotient,
f 4(x) dx = f(x’- + ZRX + R*) dx

= L x4+ Rx* +R*x +C
.13-
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24. ‘Evaluate each of the indefinite integrals to find the most general antiderivative.

(@) f cos(x)-tan’(x)- dx

Nole +hat fan (X)) = sta(x) so Fhat:

cos ()

‘ . 3
cos*{x) - 4~q_n3(>() = cos {x). sin (x)
Then , Cas-r‘r'y,r'r\j owt a u-rrub.sh'-)-uh'oa cor Hh 'u.:s:‘n(x)
}s'oea: '

f cos “(x) Fan(x) dx = f cos(x) - sin®(x) doc
= f w? du

urc = —“: .s:'r\"(l)_ + C.

= L
44
®  [sec®() a0

Note t+hat +an®(8) +]| = sec*(0) so that:

sec(0) = (tan® () +1)° = +tani(e) + 2 tan(6) +|
Tl\er‘a.-lzooe_:

. J'SQCG (8)dB = fsec"(e)-se_c"(e) d e
= [ (+an*(8) + 2. tan?(©) #]) . s2¢*(B) dO
.: f+an*(9)-'sqc,2(9)d9 + Zfi—anz'(e) sec?(6) dE

+ fsec-a'(e) d 6

= -51_—- 'f-qns(e) + _,_?;; +an3'(e) + 'l—‘qn(g) + C
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25.

Find the solution 10 the following initial value problem. - Note that your final answer should not
contain any unspecified constants. Clearly indicate your final answer.

y”+16-y=sin(x) ¥(0)=1 - ¥'(0)=0
ttemegeneous Solutien: v+ leyg =0 j Reets r= * 4
r* 4+ 4 y = ©
Ye(x) = € cos(4x) + Cp sia{4x),
ParHeule o Solutton N (%) '-=- Sin (x)

What's jmportant:
Sia(x)

co 5 (%)

N'(x) = cos(x)
N"(x) = —sinlx)
(Re pea Hnj 3o shep. )

Yp (x) = F - cos(x) + G-"Sir\(x)

Determine. Condbants F, G yP’(,() = = Fsin(x) + G cos (x)
7. Bpﬂ(‘x') = —F cos(x) - G~ sin(x)
‘:fp”(x) + 16 Ye (x) = sin(x)

- Feostx) = G sinlx) + jg Feos(x) 4+ 16 G sin(x)

=  sin(x)
Coeffrcient of ceslx):

So F=0

JSF-"-o

—

Coefficient oF Sia () 15 G~

—

Yp(X) = /g sin(x)

Detecmine Conoteants  Co ; Ca

Y{x) = 9alx) + Yp(x)

—

= G cos(4x) + Cy Sinl4x) + Yir Sin(x)

Yo =1: G = | so , = |
hy’go?:ﬁ: 4CQ_ + ‘/}S" - Q So CQ_ = “!/éo

Final Answer :

j(x) = c.o.r(‘l'X) "'*6-'—0- Sfﬁ(‘h() -i'_!L:_.s;n(xj

34
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26. The function y = f{x) is defined by-the following differential equation and initial condition:
Differential equation: fi(x)=x*+ f(x) or y=x’+y
Initial value: (=1 or ¥ =1.

(@) Use Euler’s Method and Ax = 0.25 to estimate {2). Clearly indicate your final answer.

New F£(x)

Current+ € Currentr F(x) £ '(x) Rise= £'(x) Ax
o \ \ 025 1S
0.2.5 1.2 {.3l25 0:.328125 {.53%+8l25
0.5 1.531%125 .82812% 0.45703125 2.6351562S
.35 2.03515¢25 2.59765625 [0.649% (40625 |2.684 57033
I.o 2.684570313  |3,694570313]0.921/4 2578/ |3.6057/289)
1258 3.605%1289] $. 168212891 [1.292053223 4.89F164113
1.5 4.89176411> 3041766113 |1.18¢9 4I5S 2.8 €.684707642
.35 6.684F0F6%2  [9.14F207642(2.43680]9] 9. 121509552
2.0 9.121509552. |

F(2) 9.12{509552.,
(b) Is the estimate of £2) that you calculated in Part (a) an over-estimate or an under-estimate of the .

actual value of f{2)? Be careful to show your work and explain how you know.,

The eskhmate F(2) R 9.121509552

of the cCorrect value

This is

middle column

When F(x)

becawse

1§ concque up |

‘H'\Q, jc'Jr\CHOr\

Values,

qbcue)

of  f(2).

Show *Fhat F(x)

1s$ an underesHmalr

Hhe ';'ncrea/:?ng values o;f f’('X) (see

/IS conCave up,

Euler’s mMmefhod und erestirnale,
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27. A tank initially contains 120 liters of pure water. A saline solution (with a concentration of 4

grams per liter of salt) is pumped into the tank at a rate of 2 liters per minute. The well-stirred

mixture leaves the tank at the same rate. In this problem, ¢ is the time (in minutes) after the saline
solution started pumping.

(a)

Write down an initial value problem (i.e. a differential equation and a function value) for u(z), the
mass of salt in the tank at time z. Assume u(t) Js /in unrts of grams,

Rate in = (2)(¥) Rate outf = (2). u(€)

o

D iffecental Eguation: du 2y — u(t)
- dt 60

LnitHal Condidqon ulo)

i
o

{b) Finc’l an explicit formula for u(z).

L

Solue Differenhal Equation : d

La(lu—j2e¥y]) = =L &t +C

~lz. £ <
U — l2e — Ae_/“ ; A=tTe

Evaluaite an.rh:mf A : —lzo ¥ = A ( wre ufo) :.-o)‘

. N —",'/snt
Final - Answer w{€) = )oY — jzoY¥Y e
(c) Find an expression for the limit of u(t) as 1 — oo,
Lim : ' 4ot
uie) = Lim 0¥ - j20Y e = lzoV7. o A
+ oo £t >

efr sath,
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. 28. In this problem you will be concerned with the differential equation: y"— 3y’ — dy=¢' -
(a) Find the general solution of the homogeneous equation:
y'-3y'-4y=0.
Characteristic Equalion ! réd—- 20~ -4 =0 } Roots:
L -
- {r—4a)(r+1)=o0 r= 4, r=

4t -t

HOn\cq LACOLLS SCD Iu.‘h‘or\ g

() Find a particuiar sOl_ution of the non-homogeneous equation:

¥y'=-3y' —4y=¢". .
Here Nt} = &% N'(¢) = et 5o we have repeh'tion immedialely,
| yp'(t) = F‘e"_t, N F = ¢on5i‘dh+,)

Porticular Soiuhon:

DetRrmine. Valae of F:- y,,' {(t) - 3 Y t) - 4 _9,,“—') = &
| Fe* — 3Fe* - 4Fet = ef
: t
-6Fe = et
F = -~
Particular Solution Ye (¢) = —l/é et |
{c) Find a solution of the initial value problem:
Y -3y —dy=e - ¥(0)=1 y(©)=0.
Soluldon o€ DE:  y(&) = y,(t) + yplk)
_ t
=ce* s cet Ve
Determine  Conotants yle)=1: ¢+ O = e o=
- | yl)=o: 4¢ s = O
A,dalin.s jim: 5¢, = '/3 So C, = '/rr-.
. - !
Then . | - stCo — Vg =( so C, = 3240 = 'Y,
E; A er ) = L L — 1
nal ns wer _y() = € + . e | z e
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29,

A triangular plate is submerged in a tank of fresh water (density = 1000 kg/m®) as shown in the
diagram below. The top of the triangular plate is three (3) meters below the surface of the water

and the triangular plate is vertical in the water. Calculate the hydrostatic force exerted by the
water on one side of the triangular plate.

bed yg= distance (vertical) down
' from Hhe top of He plete

The force on +the shoded Peciﬁng({
Show n is _
Force = (1000)(93) (3+Y) W' dy

S e
P"W“"’e' =P,9. h [+ Vol ¥

We need o exprem W 1~ termys of Y

y o |4 = 4 |
wldlo =V J

The total force on +he plade is:
Total f“"“;'z = Lq(lOW)(‘l-ﬁ)(éd-j)(ﬂ'-*y)dg
= 4500 [ (1 y ~y2)dy
= 4%00[123 +t 5y 931:

4442066, 6667 N,

30. Find the solution of the following initial value problem:
Yy +8y'-9y=0 yt)=1 y'(1)=0.
CharacieriShc equabion: r*+ 8r —9 = o Roots are
' (r + N(r-1)= 0O rz=q , r=1,
< -t + :
Soluinion: vit) = ¢, e + C, e” . Determine & and (G
-9
yi) =1 Cie  + C, e =| Se Ca= 9C,  and
vi{)y=0: -q¢, + C, =o c, = ’
e + 9e
Co = 1
e’ 1 + qe.
. - . : -9t
Final aqngwer: Y(t) - I - e+ 9 +

_ e
e+ 9e e +9e



